SuMPO EPD

. SuMIPO
PEPD s ummss
E#Hx&EFS ¢ JR-AI-25439E

VERIFIED

RICOH

imagine. change.
HAR)a—

RICOH COMPANY,LTD.

HE L
HHam1adiy

BEMRERE
LIS O fE B
[RARLERE, £ R,
MR- HEFEE BE-UY1I)

HAOR, TEMLR-HET
B 1 SG 5200 JOVAFELETI
FELKR-FET
POVELIVEY
-£/70 3084 h5- 308/ (A4)
POV

-ERARAEYIX LG
- BB E FNRI BE

MLWabhts
A SHYI- ERBLBAHXFEA1-3-6

https://www.ricoh.co.jp/

SUMPORIESAINTOT 5 s
— A EE AT AT IR E e
RRBFAEXAFHE-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

T BUWAR)

RICOH SG 5200 AV RFEELETIL

ERES JR-AI-25439E
BWAPCRES  PA-590000-Al-08
PCR% B R\ H R
AFH 202643A31H
RALEME 2026438230
REEA VAT LFREEA
RAES JV-AI-25439

IRIAEEEAR 2031438228
PCRLE1-DEHE
REBZE 2023598 1H
ZER ®liE 8x
— A EE AT AT IR E HEEHE
B=HRIAE
HNERIREER WH #®e
ISO14025 (ST A E & KR UT -5 Oz UIARAE
OmREe WALER

AT LRI E R EEEAORIEDIB S E. VAT LRIAE T REEBDAH
EiL#.

BT (03)3777-8111 (&%)

E5&ES 1 JR-AI-25439E



SuMPO EPD SUMPOIREESNINTOIS s

‘ sE""’“’o o — AL EIEAY AT IV E A
' 14T NEEES (EPD) ERATRERAHET-14-8
NHRIEE, i & KANDA SQUARE GATE
FixEFS ¢ JR-AI-25439E https://ecoleaf-label.jp
D51 7947\ B2 B i 2
0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 370| kg-COzeq 6
[74e2le 0.36 | kg-SO.eq 6
BRHEE 0.14 | kg-Sbeq
m OFEMFERE mQ&ERE = QTR
" QFA-HEEE e OEE-UFIIL
I IEH| HfI At | OFEuEREE Q%E Qi |@Em-wEEE| OREE-UFI)
SURZEH) kg-COzeq | 3.7E+02 14E+02 9.2E+00 3.2E+00 2.2E+02 3.5E+00
g4 kg-SOzeq | 3.6E-01 1.5E-01 9.0E-03 1.1E-02 1.9E-01 3.4E-03
EREE kg-Sbeq 1.4E-01 1.4E-01 6.2E-05 1.3E-05 2.3E-03 8.1E-06
@ 38 3 8 . 97 5 .

I5H Bify -8 (EFFF‘IM}) Bify
FBEAEER 1.3E+01 kg SUS 1.0E-01 kg
BEAEER 8.4E+01 kg TIVIZOA 3.3E-01 kg

55 3 4.8E+00 kg
Z0MEE 3.7E-01 kg
A 2B MESIRE 1.0E+01 kg
ENEBALMEAGIRR 1.4E-01 kg
A5 6.2E-02 kg
myN 6.4E-02 kg
K 3.4E+00 kg
B 3.0E-03 kg
KRR 5.1E-01 kg
A 9.8E-03 kg
Z0ft 1.4E-01 kg




SuMPO EPD SUMPOIREESNINTOIS s

SEUME’OD _ —RALEEAY ZATF IR E S
VERIFIED KANDA SQUARE GATE

FixEFS ¢ JR-AI-25439E https://ecoleaf-label.jp

OEEFREECEATZEMIER

CBREEICAVSYTUAICBVWTEIRLEE SR
-TUVHUAR)

‘B EOMEEITE  BAR

EEE AR : 5ERM

B EERMER ¢ 135,00080%
KEBRIRIF-AF-T0YIL Ver3 00E E /5 iE%ER

-BEREANEAE (EIRIAK) OBREET ELTWERA,

©-1. 2D DIRFEEEF R

- BRIMROHSHE T ICHEML TWET

AEROELEEE, TEMRTHE, TUVIANYR AVTQEERISO14001FR UG TIHICTUHTHN TVET,
FOEEES ¢ JQA—E-70001

https://jp.ricoh.com/sustainability/environment/management/iso

@OERLEZRT-9DEZH
IDEA v3.1.0. &, TOVSLEZFEE VI 16EERALTVET,

®fFE

OT-YEEDHER. PCRELVEE - EEREESRBL LI,
OLLEIOWTE, EE - EERBCRESNEZHERILILHECLIEHONEEA,
(BB5URL ! https://ecoleaf-label.jp/regulation/)
E#HxFES ¢ JR-AI-25439E



